
Homework 2, Math 310, due September 17

(1) Writing truth tables, decide whether the two statements are
equivalent or not. A,B,C will denote some mathematical state-
ments.
(a) A ∧ (B ∨ C) and (A ∧B) ∨ (A ∧ C).
(b) A and ¬¬A.
(c) A⇒ B and ¬A ∨B.
(d) A⇒ B and A ∧B.

(2) If A,B are subsets of R, describe using any of our notations
for sets, A ∩ B,A ∪ B in the following. Choose the simplest
(somewhat vague requirement) expression, if possible.
(a) A = {x|0 ≤ x ≤ 10} and B = {x| − 5 ≤ x ≤ 5}.
(b) A = {x|x2 < 1} and B = {x|x(x− 1) < 0}.
(c) A = {x|x is an integral multiple ofπ} and B = {x|(sinx =

0) ∧ (cosx = 1)}.
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